3 (Sem-6/CBCS) ECO RG 1

2023

ECONOMICS
( Regular Generic )

Paper : ECO-RG-6016
( Economic Development and Policy in India—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

' .1. Answer the following questions : 1x10=10
oY TR e
(@) In which year was WTO. established?
@ 570 WTO 2fewn (2fee 2
(b) What is FCI?
FCI &7
(c) Write one objective of NABARD.
RIS @51 Sempeny fordT |
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(@)

(e)

(9)

)

@)

0)
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(2)

What is balance of payment?
MR e Tge R 2

Give one example of loss making public
sector enterprise in India.
SRR (AR SR 4T IH 49T ! @R

Swrzge fet |

What is agricultural marketing?

FR w2 |

Mention one argument in favour of
small-scale industries in India.

SAe wu CremE wew @b 1R
HI9RCRHT |

What is foreign direct investment?
ooy (aoiPe Rifcast & 2

Mention' one important problem of
industrial development in India.

wmﬁ?ﬁwmmﬁw
TrEy T

Write one objective of land reforms in
India.
SRR B I <51 S e

( Continued )

mal

(3)

2. Answer the following questions : 2x5=10
©o] 2PPTYRd Bed o
() What is regional variation in
agriculture? i
TR s tafva 9
(b) Write two features of new industrial
policy of 1991.
S5 B9 gA STHIe NS o1 ¢y foran |
(c) Mention two causes of backwardness of
Indian agriculture.
TROR PRI SHLHEOR 1 TR Sea 41 |
(d) What is ‘Aatmanirbhar Bharat?
ey oS’ ¥ 2
(e) Write two gains for India as a founder
member of WTO.
Ry iR ot afegeR 75 o SRee
o 1 51 =M for |
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3. Answer any four of the following questions :

5x4=20

oo 2R R e sifReR Tey fa

(@)

()

(@)
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Explain the main features of
agricultural price policy in India.

<aa@aqﬁiwaﬁM%aaﬂxbﬁﬁaﬁ$za¢ﬁzwn|

What are the changes that has been
undertaken in the new industrial policy
of India, 1991 regarding public sector?

so5d Y Agw Srmiae Afee e 1%

CFIS @A ARTETIR & 7 2

Give an analysis of the inflow of foreign
investment in India since 1991-92.

TAOS S553-3% TN [ TH (&QRe

RfFceR 2/ " [REE 961 Resma e[ |

Explain the role of small-scale
industries in Indian economy.

oo Seifee Fu TCwioR SRFT 3 41 |

( Continued )

(5)

(e) Explain the problem of low productivity
in agriculture in India.

TRTS FRA FH Sefmm aeR T I 37 o

() Describe the present state of agriculture
market in India.

Sed IR T TR T6NW SRER ey 3
-

4. Answer the following questions : 10x4=40

oo 2P e i

(a) Explain the phases of industrialization
and its growth in India.

TRTs SEOIR RETR W W S
TR 0 0

Or/JqY<l-

n the role of foreign direct

Explai .
investment in a developing country like
India.
SHey Wd TEme (TS AOR® QiR
R \gi?m e T4 |
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(b)

)

A23/722

(6)

Evaluate the performance of public
sector industries in India.

SROT IR 9T TrmeR wlgeerer
oA 39T 1 E
Or/93r

Discuss various land reforms in India.
How they lead to agricultural efficiency
and social equity?

oRed Rfen oR TR wieems w1 @
HFPTRZ IRI THAC OF A e
e fde w3 2

Explain the factors responsible for
mounting crisis in balance of payments

in India.
SRS AT R Bges TR Ccvae
A a1 IS TR I 361 4 |

Or/ <71

Discuss the trends in the value of
India’s foreign trade.

SRS (P M@ JAR AR o
ICEATsAl 47 |

( Continued )

(7)

(d) Explain the different sources of
agricultural credit in India. What are
the steps taken by the government to
raise credit flow to agriculture?

oReS $R 49 Rfen Teprg WA =M 1
IR CFIS 9R 2R R RIS v A

1 o 6 2
Or/S%41

Explain the objeétives and role of the
World Trade Organization.

Ry ey sTER S o gR 3 3940 )

* % %
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